
NEB - GRADE XII

Environmental  Education

/lhi6«]zg gDa/sf z'?sf b'O{ c+s %^ b]lv ^% ;Dd ePsf k/LIffyL{x?sf nflu

ljBfyL{x¿n] ;s];Dd cfkm\g} zAbdf pQ/ lbg' kg{]5 . bfof“ lsgf/fdf lbOPsf] cª\sn] k"0ff{ª\s
hgfp“b5 .
Candidates are required to give their answer in their own words as far as
practicable. The figures in the margin indicate full marks.

Time : 3:00 hrs. Full marks: 80
Pass marks : 28

;d"x ‘s’ (Group 'A')

-ax'–j}slNks k|Zgx? ÷Multiple choice questions_

;a} k|Zgsf] pQ/ lbg'xf];\ . (Attempt all questions.)         10x2=20

!= i) df6f]sf] k|b"if0f s;n] ub{5 <(Soil pollution is caused by) :

s= t]n 6}+s/ (Oil tankers) v= af9L (Flood)

u= sL6gfzs cf}iflw (Pesticide) 3= dflysf s'g} klg xf]Og (None of the above)

ii)  lrtjg /fli6«o lgs'~hsf] :yfkgf slxn] ePsf] lyof] <
Chitwan National Park of Nepal notified in the year:

s= !(&# (1973) v= !(*$ (1984)

u= !(&) (1970) 3= !(*^ (1986)

iii)  h}ljs–ljljwtfsf] x|f; s;n] ubf{ x'G5 <(Loss of bio-diversity occurs due to):

s= jg ljgf; (deforestation) v= cf}Bf]uLs/0f (industrialization)

u= sL6gfzs cf}iflwsf] k|of]u (Application of pesticides)

3= dflysf s'g} klg xf]Og (None of the above)

iv)  ljZj jftfj/0f lbj; h'g % nfO{ dgfpg] ;DaGwdf ‘dfgj jftfj/0f’ ;Dd]ng
:6sxf]ddf slxn] lg0f{o ePsf] lyof] <
World environment day, June 5 was recommended at the "Human
Environment" conference held in Stockholm in.
s= !(&& (1977) v= !(^@ (1962)

u= @))! (2001) 3= !(&@ (1972)
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!#= kfl/l:yltsLo k|0ffnL eGgfn] s] a'em\g' x'G5 < kfl/l:yltsLo k|0ffnL pbfx/0f;lxt j0f{g ug'{xf];\ .
Define ecosystem. Explain the pond ecosystem with example.

!$= s'g} b'O{sf] 5f]6f] l6Kk0fL n]Vg'xf];\ (Write short notes on any two) :

s_ v8]/L (Drought)

v_ 8An'=8An'=Pkm= (W.W.F.)

u_ of]hgfsf r/0fx? (Steps of planning)

3_ vfB ;[ª\vnf (Food web)
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#= vfB rqm eg]sf] s] xf] < pbfx/0f;lxt JofVof ug'{xf];\ .
What is food chain ? Explain with examples.

$= jftfj/0fLo hgr]tgf hufpg hufpg ;+rf/ dfWodsf] e"ldsf JofVof ug'{xf];\ .
Explain the role of communication media in environment education.

%= d"Nof+sg eg]sf] s] xf] < jftfj/0fLo lzIffdf lgdf{0ffTds d"Nof+sg lsg cfjZos 5 <
What is evaluation ? Why is formative evaluation necessary in environmental
education ?

^= k|fs[lts >f]t eg]sf] s] xf] < k|fs[lts >f]tx?sf] ljgf;sf sf/0fx? s] s] x'g\ <
5f]6s/Ldf JofVof ug'{xf];\ .
What is natural resources ? What are the causes of over exploitation of
natural resources ? Explain is short.

&= lg=df=lj= txdf jftfj/0f lzIff kf7\oqmdsf sdhf]/ / ;an kIfx? s] s] 5g\ < tL sdhf]/
kIfx?nfO{ s;/L x6fpg ;lsG5, ;'emfa lbg'xf];\ .
What are the strong and weak points of environment curriculum at lower
secondary level ? How those weak point can be removed ? Give suggestion.

*= jfo' k|b"if0f eg]sf] s] xf] < jfo' k|b"if0fsf sf/0fx? / c;/x? n]Vg'xf];\ .
What is air pollution ? Write down the causes and effects of air pollutions.

(= jftfj/0fsf tŒjx?sf] s] s] x'g\ < 5f]6s/Ldf n]Vg'xf];\ .
What are the elements of environment ? Explain in brief.

!)= e"Ifo eg]sf] s] xf] < o;sf s'g} b'O{ lgoGq0fsf k4lt pNn]v ug'{xf];\ .
What is soil reosion ?  Mention two methods of protection.

!!= zf}lIfs ;fdu|L eg]sf] s] xf] < jftfj/0fLo lzIff lzIf0fdf :yfgLo z}lIfs ;fdu|Lsf] k|of]u
lsg cfjZos 5 <
What is teaching materials ? Why is it needed locally available materials
for teaching environmental education.

;d"x ‘u’ (Group 'C')

-lj:t[t pQ/fTds k|Zgx? ÷long answer questions_

s'g} b'O{ k|Zgsf] pQ/ lbg'xf];\ . (Attempt any two questions.) 2x10=20

!@= hLj e"–/;fog rqm eg]sf] s] xf] < gfO6«f]hg rqmsf] ;lrq JofVof ug'{xf];\ .
What is bio-geo chemical cycle ? Discuss  Nitrogen cycle with suitable
illustration.
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v)  jftfj/0f lzIffn] ug]{ r]tgf clej[lQn] s;nfO{ ;3fp“5 <
 Environment Education is to create awareness for:

s= dfgjtf, k|s[lt / hg;fwf/0faLrsf] ;DaGw
Relationship of humanity with nature and people with each other

v= jghGt'sf] ;+/If0f k|of; (Fostering wild life conservation)

u= h}ljs ljljwtfsf] ;+/If0f sfo{ of]hgf
   (The development of biodiversity action plan)

3= dflysf s'g} klg xf]Og (None of the above)

vi)  tnsf dWo] s'g rflx“ dfgj lgld{t jftfj/0f xf] <
Which of the following is manmade environment.

s= jg (Forest) v= k|fs[lts kf]v/L (Lake)

u= pAhfp hldg (Fertile land) 3= l;d;f/  (Wetland)

vii)  tnsf dWo] s'g rflx“ h}ljs tTj xf] <
Which one of the following is Biotic component ?

s= ;f}o{ zlQm (Solar energy) v= hgfj/ (Animal)

u= kfgL (Water) 3= xfjf (Air)

viii)  tnsf dWo] s'g rflx“ lzIf0f ljlw lzIfs s]lGb|t ljlw xf] <
Which one of the following is the centered teaching method ?

s= efif0f ljlw (Lecture method) v= ;d:of ;dfwfg (Problem solving method)

u= 5nkmn ljlw (Discussion method)3= z}lIfs e|d0f ljlw (Field trip)

ix)  tnsf dWo] s'g rflx“ >Jo—b[Zo z}lIfs ;fdu|L xf] <
Which one of the following is Audio Visual teaching materials ?

s= 6]lnlehg (Television) v= kq–klqsf  (Newspaper)

u= /]l8of] (Radio) 3= u|fkm (Graph)

x)  PsfO{ of]hgf s;n] lgdf{0f ub{5 < (Unit plan is made by):

s= ljifo lzIfs (Subject teacher) v= ljefuLo k|d'v  (Department head)

u= ljifo lj1 (Subject expert) 3= k|wfgfWofks (Headmaster)

;d"x ‘v’ (Group 'B')

-lj:t[t pQ/fTds k|Zgx? ÷Long answer questions_

s'g} cf7 k|Zgsf] pQ/ lbg'xf];\ . (Attempt any eight questions.)  8x5=40

@= jftfj/0fLo cjqmd x'gfsf] k|d'v sf/0f dfgjLo lqmofsnfkx? g} x'g\ < k'li6 ug'{xf];\ .
"Environmental degradation is mainly caused by human activities", justify.
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